
Section 9 – Launch Minus 48 
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

L) What was the 
sound that had 
woken them up? 
I) Why were the 
children looking to 
Liam to sort out 
the problem?  
V) What does ‘a 
monotonous 
rumble’ mean?  
E) Why do you 
think they are 
giving them loads 
of gifts?  
GD) “That is so 
much scarier 
than bears” 
What does Liam 
mean by this? 
 



ANSWERS: 
 
L) The sound that had woken them up was the sound of the rocket moving. 
I) The children were looking to Liam to sort out the problem because they thought he was an 
adult. 
V) A dull and tedious rumble  
E) Because they wanted to ‘butter them up’ before they go to space!  
 
	


